Interleaved practise
Year 6, week 1

Number:

1. Complete the following number sequence: 2,4, 7, i , 16, _2_2_, ﬁ, 37

Describe the number pattern. B n bﬂ addii 2 4o the ‘G‘ys-‘ numba’.
11256 A@ ove mor:?fmn the previous humber
2. 12478+ ___ =13603 for each Subsalucrrf step.cq. t3, +4 ,+S...

3. Read this number and say it: 12 403 048. Write it in words. How many millions, thousands,
hundreds, tens and ones does it have?

Twelve VV\\‘“(.OVI/ four hurdred and ‘ﬂvmﬂwusamd and 76""3" 6/%*
12millions |, 403 thousands , 0 hundreds , 4 tens and 8 ones

4. If you purchased a t-shirt for $27.80 and a cap for $12.25? What coins and notes could you use
to pay for them? Show two different combinations you might use.

32760+ $12-28 = $40-05 Your child m«'ﬂhf also suﬂaest:
larger amount . I <0, ask how
s: o) q :
Cmmdt Much changc h&/sl;c, would
= 6 ey
5. What is one third of 42? Show how you could work it out using counters. Draw what you did.
:‘%s&b\c. S'\V‘a‘cﬁf&s‘. 42+3 =14 ."o’o'% 3333 6%,
@073)*(12-:3) 0::, 0: ’0 .:‘..'
= fhen i 8000000000005 \ : _
B ~—Do0006 60 6600600 21:3=7 s0 42:3=TXZ =y

Mea?[;rement/Geometry:

6. Find 3 items in your pantry that are measured in kilograms. List them from lightest to heaviest
and write their massin grams. 7o convert kﬂ to grams , muH-fp/ﬂ bf] 1000
¢q. Zkq = 20009

7. What time is it? You want to watch a television show at 16:30. How long do you have to wait for

Efostant  gine shilel may needl fo use a clocke or drawﬁzg Jo work

Hhis out. Adjust your clock o a simpler hime 1 your
child has dif wJ% with -l—d//hg '/7'molaj Iminute z'ncrcmenf.s )

8. Describe what happened to shape 1 to make it look like shape 2.

' Shape | was rotakd Yyturn clockwise
: - ' awd,ozlfp,mo\ alonﬂ the vorticle axs.
Iffjow’ child has a(:‘FG‘w.II-tJ visualisin

the movements | he [she could draw Hhre,

shape, cut ifout to work out how +o make
it look " like thhe scwond one .
9. What is the weather most likely to be like tomorrow if there is a 25% chance of rain? How else

could the chance of rain have been described?

T+ i's most likelyfo be Ane. TF could have been described Ustng
any of the following: |, 4 b | o-z5 28 . sonde e

100 ,

Chance/Data:

!
* modevale " ‘possfblc ’



